FASELEIOCT 2 =TFH Y Y 7 hy TEZKiKEHR

EAXE RERRBAEE XFO

FHEXa fEH -1 K4 E% o
2 TE ER 75 7 e 28.26
4 A E = A =] z= .
50m & i WEBRBRE k%ﬁﬁgz 29.14
6 A FER t >k ZILEHE 29.28
7 B tiE BRSC 29.36
50M&E XK E 3 TE =R 75 7HEH 32.46
. 2 A pie = )
5OmT Sk & %ﬁ tf BERSC 36.00
6 FE OBE 1 brwrELRE 37.17
3 ¥ ER 775 7R 29.
£F71 0T 50m/S % 7 5 A T 2R T2 7 7H 9.83
5 FE OBE A1 b<vELRE 30.92
200mMELAX F L — %EJ-T$ %T@S 2:38.10
8 B tiE FERSC 2:39.25
1 3 A AN TR - RR :00.
AX50mT U — U L — jii‘?SC Hz_mﬁ\ :IJ_! éf% JE 2:00.51
2 BERISS T - BEE - R - AR 2:01.35
3 BEHRSC AR BA - FR - 2:14.63
4AX50mA FL—YU L — 5 BERISS B - BRI - R - R 2:15.72
7 HASS &7 B -2R-IE= 2:18.03
1 i Sl = )
50m & a7 j#%<} \ﬁ?xzﬁ 26.89
3 =Kk tiE IS &y = 27.36
100mBE®BF 6 Sk tiE I S-y= 59.82
2 A == aOFIFEBER 2:06.40
200mEB @ 6 [ B BWRSC 2:08.32
7 B M= < U AR 2:08.52
. 4 i Sl = )
50ms Sk & ?#%< ) $E§C 30.42
5 BERAKER EHRSC 30.68
R 4 I C L 7SC 1:06.17
LF1H~128 100m# AR = %
7 BERAKER EHRSC 1:07.62
50mFKE 8 R ) b TIILER 34.78
100mRX%X 774 3 B)H M= ~ U A 1:02.88
200mfE A X KL — 6 H == aOFIFEBER 2:24.22
4 =SC - -BRH B = :52.
AX50mT Y — 1) L — R C %?# *aﬂ B iEH 1:52.38
5 ~ U U EETH EAR - B - I - R 1:53.40
1 ERSC B8 - 8 - |- HH 2:02.84
4X50mA KL —YL— 3 Yk ZIVEEE HE&F - s -8l - 28 2:04.86
6 t > b ZILERE ER - BRI - LA - B 2:05.30




FASEI2LEIOCY 2 =TH Y vy 7 hy TEZKEBEKRE ER#BAEE wFO

FWEXo EH 13 K% FrE4 Eit
50m & Ea i 4 B %{E BEASS 26.65

8 AR EfE SWIFT 26.94

1 RAHEE E=RSC 57.28

100m B B 5 BB 2E = ZEBMSS/HEE T 58.21

7 BH A BEIISS 58.37
1 f&h B A b~ Bk 2:03.19
200m e 2 E%Eﬂgé ﬁr-is_c 2:03.42
4 BARELH T - HIRO'S/E B 8 2:04.55
8 BB 2E = ZEBMSS/HEE T 2:06.37
1 f&h B A b~ B0k 4:18.54
400m B B 5 mE BE E=RSC 4:23.81
8 /NG b ZIIPEER 4:29.61
100m& ik E 8 EH O OER =ZHMSS 1:05.49
1351455 100mIFx E 3 W2 B»%% %ﬁss 1:11.12
00mT S E 6 WE B _ BEAISS _ 2:35.19
7 BRI B2 HEEF R/ o> RaE 2:35.21
L00m/S 45 5 A 1 A =5 JSSAE?@_ 1:00.80
4 AR FB b T IILEE 1:01.51
200mNNK 754 4 55 FE > b EE 2:14.61
200m@EA X KL — 6 BRI R T - HIRO'S/EE EF 2:20.53
400mfEA X KL — 3 By ¥ BRSC 4:53.67
2 BEAISS BH - PR - B - TR 3:54.98
LX100m 5 U — 1 L — 3 =ZEMSS B8 - MR - KB - B 3:57.02
4 BRSC RA -1 BE - BB 3:58.48
7 WY 2BR WA - ARy - #EER - AR 4:02.68
2 BEAISS B - WE - LB - TR 4:18.62
4x100mX* FL—VU L — 3 $£HISC ot - Xk - BH - AR 4:22.75
5 E=HESC Rl - B - R - E 4:24.31




FASEILEIOCT 2 =TF7H Y vy I hy TEZKKERKE

RRBAEE LFO

FEE S FE = 42 K& E% ok S
50m B Bz 1 BE 5 T-HIRO'S/EEHXK 26.43
100m B B 1 BE 55 T-HIRO'S/EEHXK 56.94
2 =% (5 v b FILERE 1:03.09
100m#g K E 5 PR I AN bk Z IV 1:04.29
7 HFE =4 ARATEER 7/ BT I & 1:04.53
e 3 HFE =4 ARATEER 7/ BB FF I & 2:16.16
200mE ik =
4 =% (5 v b FILERE 2:17.18
15165 100m$;‘71‘<§“ 8 BREH Ei %msc 1:11.84
100mARN&Z 75 A 3 kA T BEASS 1:00.22
200475 A 7 WA T BERSS 2:16.30
8 SH R — L8 2:18.75
200mIELAX KL — 1 =F: %fé HRSC 2:15.75
4 BRE B £H1SC 2:18.66
2 Bl ®E HRESC 4:47.57
400mfELA X KL — 4 HIWA I BERKX 4:54.15
8 MA Tk HRSC 4:58.61
100mB B 8 M 2E 707 TN/ NETF B 58.88
200mE B 4 REE—TE =EBMSS/ Mg 2:02.71
400m & e 7% 1 Iﬁ?l‘j‘ MNE T 7 TWEA/NEFER 4:14.70
3 NS 1 b= vERR/BAZ 4:16.09
800m & 1 ij BE 707 TN/ NETF B 8:43.83
2FCS 3 NS 1 b= vERR/BAZ 8:46.44
100mE K E 5 PR H VALUE SS/A\EF B 1:03.24
200mE K E 5 PR H VALUE SS/A\EF B 2:17.15
100mNN& 754 6 Wik EE 7057 ZE/NETFER 1:01.00
200mfEA X KL — 4 REE—TE =EBMSS/ M EE 2:17.06
400mfELA X KL — 4 NS 1 b= vERR/BAZ 4:50.46
4x100m7 Y —VY L — 8 BERSC WE - B 2)Il-04 K 3:56.23




